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=(1+6—4)x+(—1-3-8)y+(2+3+4)z
=3x—12y+9z =

9 A=2x+vy+3z, B=x+2y+z, C=x+y+2z &35, RONEFEE L,
—Ep.23 FHTTRHIRE
(1) 2A—(B+20) (2) A+C—{2A—(B+C)}

ol —H%

Shnes



FlrEngel

REIEEUERl
m, nXEDEKET 5,
1 a"Xa"=a™" 2 (a™)'=a™ 3 (ab)"=a"d"
sR ARl
B A, B, ClZOWVWT
A(B+C)=AB+AC, (A+B)C=AC+BC
BRERDOLIK
1 (a+b)’=d*+2ab+b?, (a—b)’'=a’—2ab+b*
2 (a+b)(a—b)=a%—0b?
3 (xt+a)(x+b)=x*+(a+b)x+ab
4 (ax+b)(cx+d)=acx®+(ad+bc)x+bd

TRIALA
10 RORZEHEE XK. —[Ep.10 £ 8
(1) a**xa? “2) 3x2X(—4x®) (3) 3x%yXx5xy®
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39 OXEREDEHEE X
(1) 16x*y+2xy* (2) x8—1y8
B3) (a—b)’+(b—c)*+(c—a)’



